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Time allowed for the test: 50 minutes
PR 50 A 48

Instructions:

1. This test contains two sections:
Section A: Questions 1-30
Section B: Questions 31-36
Answer ALL questions.
Write your answers on the answer sheet.

Write your name, class and class number on the answer sheet.
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You may do your rough work in the blank space of this test
booklet and there is no need to rub it out after the test.

6. You can use a pencil or a black/blue ball pen to answer the
questions.

7. The use of calculator is not allowed.
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Note:
Not all diagrams are drawn to scale.

SECTION A (60 marks)

Choose the correct answer. You only need to
write down the letter preceding the selected
answer.

N
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1. The actual number of users of the
website E is 286 149. When
corrected to the nearest ten
thousand, both the number of users
of website E and website F are the
same. Which of the following
numbers may be the actual number

of users of website F?

A.279 862
B. 284 843
C. 293017
D. 297 862

1. =t E g %% © X ficd_
286149 - F#B~iT B I B 0 4
#Efeiest F et 2 A - 4k o
TR — i HE i Ak F RO

RS

A.279 862
B. 284 843
C.293017
D. 297 862

2. The charity needed to distribute 18
boxes of apples. If each box had 12
packs of apples and each pack had
9 apples, how many apples did the
charity distribute in total?

A. 162
B. 216
C. 1494
D. 1944

2. R I8 fAdE R o Aok F A
ARG 2K T RERF 9B
WHERFRE OB 2

A. 162
B. 216
C. 1494
D. 1944




2 (| 1 [[Y] 1s a 3-digit number.
When it is divided by 18, the
remainder is 16. Which of the
following is | ¥ |?

A.

2
B.| 4
C.le6
D.| 8
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4. A box of 16 ballpoint pens sells for
$240. The average price of each
ballpoint pen is more expensive
than that of each pencil by $5. To
buy four dozen pencils, how much
should be paid?

A. $720
B. $640
C. $480
D. $360

4. - FRFAEG 164 &AL

8240 o £ fx i+ £ T30
B d S5 e B 44T R H 5
9

A. $720
B. $640
C. $480
D. $360




5. The fourth common multiple of two 5. % By e o 2 HcE_168 -
numbers is 168. Which of the T YR— VA R B#Ec?
following groups of numbers may be

these two numbers?

A.21, 84 A.21 - 84
B. 3,56 B.3> 56
C.6,7 C.6-7
D. 4,16 D.4- 16
6. If each represents 1, 6. 4ok = B &k 1T
what is the result of adding up all the 7l & B IE BN A N 4 ehiE 4R
numbers represented by the shaded befs e %H 509

parts of the following figures?

A. 1% A. 1%




40 401
7. 1f ——K =0, then4d0— % =2 7. &r%——t =0 7R >
5 5 5 5
40— % = 7
A. 4 A. 4
B.3 B.3
C.1 C.1
D.0 D.0

8. Which of the following has the largest | 8. T 7[R — 38 enig e < 7

value?

A.4.2x1.6 A.4.2x1.6

B.3.7x1.8 B.3.7x1.8

C.0.42x1.6 C.0.42x1.6

D. 0.37x1.8 D. 0.37x1.8

9. There are 96 buttons in each pack, 9. & & ded 96k 0 H P %{:

17—2 of the buttons are red. How e drk G 14 ¢ o £ 5
many red buttons are there in total if Zd hde 5 R ?

there are 14 packs?

A. 40 A. 40
B. 56 B. 56
C. 560 C. 560
D. 784 D. 784




10. Each kettle can hold 4%L of herbal 10. = Bk &7 0 i 4%-"1 R e e
tea. How many kettles can be fully G 142 E > T LERK
filled if there are 114L of herbal tea? R

A. 784 A. 784
B. 75 B.75
C.24 C.24
D. 12 D. 12

11. The correct answer of a mathematics 11. 7 &8 my x4

question was 2109.457, but Carmen 2109.457 > & & RF frefe | A
T:"j]Tr'—‘- L ecFE T3 o T

i ERE % 2

wrongly exchanged the hundredth
digit and the tenth digit. Which of

the following numbers was Carmen’s

answer?
A. 2019.457 A. 2019.457
B. 2109.547 B. 2109.547
C. 2109.754 C. 2109.754
D. 2159.407 D. 2159.407
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12. There are 317,kg of peanuts in the 12. % &5 2 3l kg vty
2 AR
nut shop. The peanuts are 55kg S?kg o BFEEPM R TG A foprt
heavier than the walnuts. What is the 50
total weight of peanuts and walnuts?
9
9 2
A. 687ke A. 687 ke
2 B. 58—k
B.5 Sﬁkg 10 X8
1 Ty
C. 58 ke C. 587 ke
1 Sy
D. 577qke D. 577 oke
Each | Each
$12§ \\\ = $8_

TN
L)Y |+

13. There are 2 croissants and 1

pineapple bun in a discount
package, the price is $30. If the same
number of croissants and pineapple
bun are bought, how much can be
saved by buying the discount
package?

A $3—

13. BREF P\’ﬁ2llﬂi £ qcl i
FRe > BR A0 4ok Bl
FEht b foille > R RA
AV ILEY ST

3
A. $3?
B. $37+
C.$4—~

3
D. $45




14. Arrange the following three numbers

from the smallest to the largest:

14. 3 2T = Baed T4 RA

32 7
0 43712

32 7

A. 5 <4<375

B.

C

9 12

27
g <375 <4
7 3

By <% <4

7 32

D.4<375 <4

12 9

15. The company has 105 employees,
3
30 of them were British andﬁ of
the remaining were Germans. What

was the fraction of Germans to all

employees?
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16. Which of the following descriptions
about isosceles right-angled triangles

is incorrect?

A. A square can be formed by
fitting two i1sosceles right-angled

triangles of the same size.

B. A trapezium can be formed by
fitting three isosceles right-angled

triangles of the same size.

C. A triangle can be formed by
fitting four isosceles right-angled

triangles of the same size.

D. A parallelogram can be formed by
fitting five isosceles right-angled

triangles of the same size.
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17. In the above figure, when Ben arrives
at the junction, he will turn left and
walk on. In which direction will he
walk then?

A. south
B. north

C. southwest

D. northeast
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18. Anne drew a straight line on a
rectangle paper and two trapeziums
were obtained. Which descriptions in

the following must be correct?

I. There are two right angles in

each of the trapeziums.

II. The perimeter of two

trapeziums were equal.

III. There was an obtuse angle in

each of the trapeziumes.

A.Tand II only
B. I and III only
C. II and III only

D. LII and IIT

Il 3 B4r25% B ip 3% o

ML & BH254F - S84

A £3 1210
B. £ % 12 1III
C. 24 Iz III
D

I[-1I 2 III

19. By using all plastic sticks and plastic
beads of the following two 3-D
shapes, how many triangular prisms

can be formed at most?

A5
B. 4

C.3

19. % 00T & i 2 RR AT Be
feBsk s RSV e F B2
417

A5
B.4
C.3
D.2

11



20. The above figure is formed by six
circles of the same size and one
triangle. E, F and G are centres. If the
diameter of each ciecle is 8cm, what

is the perimeter of the triangle?

20.

+Bld B Ap e el e B

Z 4724 cE~Ffr G &~ o
4o% 5 B SE 28 8em o = &
S

A. 16cm A. 16cm
B. 24cm B. 24cm
C. 48cm C.48cm
D. 96cm D. 96cm
Figure 1 1 Sem] Figure2 [ |
] - T0cm Bl =
28cm |::>
SCmI
X 100m=

16cm

21. Figure 2 is formed by fitting the three | 21. Bl = &_d B]- #775 c= B & > 35
rectangle shown in Figure 1. What is Hrerm o v AR 509
its perimeter?

A. 108cm A. 108cm

B. 114cm B. 114em

C. 136cm C. 136cm

D. 148cm D. 148cm
BATREA R B X (] 5) 12
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22. A carpet is formed by a rhombus and
an equilateral triangle, as shown

above. what is its perimeter?
A. 120cm
B. 140cm
C. 150cm
D. 180cm

4
4
4
4
4
4
’
’
’
’
7
7
7
’
»|
»

60cm

22, - ER D - BEIo- B
&L dot Bl o T

¥RAS Y

A. 120cm
B. 140cm
C. 150cm
D. 180cm

L o

23. The above solid is formed by cubes
with side 3cm. What 1s the volume
of the whole solid?

A. 8cm’®
B. 64cm’
C. 162cm’
D. 216cm’

23. 10t th 4d 5 BB E 3om sn

S RE A o AR Rl 2%
/')Q

A. 8cm’®
B. 64cm’
C. 162cm’
D. 216cm’

13



i X
l4cm Y
Z
\ 4 |
D 18cm .
24. In the above figure, W, X and Y are 24, =Bl W> XfeY E i 3350
squares. Find the area of Z. RZ  ff o
A. 24cm? A. 24cm?
B. 32¢m? B. 32¢m?
C. 124cm? C. 124cm?
D. 252¢m? D. 252¢m?

36cm?

16cm?

25. The above figure is formed by two
squares and a triangle. What is the

area of the triangle?

A. 8cm?
B. 12cm?
C. 16cm?

D. 32cm?

25. FBIED - B BE A e- B

7o

s e N — ns T g
ﬁ-q/,sfl‘:a‘" ° = ﬁ-rl/m‘]# fgﬂ—\f/
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A. 8cm?
B. 12cm?
C. 16cm?

D. 32cm?

14



a
26. In the above figure, what is the area | 26. ' BII&R384 chg fF A7 > ¢
of the shaded part?
A. 15cm? A. 15cm?
B. 30cm? B. 30cm?
C. 45cm? C. 45cm?
D. 60cm? D. 60cm?
4cm 4em
el el
20cm
Som 20cm
30cm
27. What is the volume of the above 27. PRI ORAEE S S0
solid?
A. 4200cm’ A. 4200cm’
B. 4500cm? B. 4500cm?
C. 5400cm? C. 5400cm’®
D. 6000cm’ D. 6000cm’




Number of Goldfish in the Tank
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28. According to the above graph, what
was the fraction of the number of
black goldfish and white goldfish
to the total goldfishes?

1
A T3
2
B. =
1
C.
1
D. 3

_;g&

Each g( stands for 1 goldfish
= [IF3 r\\ A l",g

28. x> 2 £ Afod & £ 4D
SE SRS LT & & i A
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Number of Books in Four Book Corners

r BRI AR EE

600

500

|:| Chinese books
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English books
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300
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200

Number of Books

100

il 777/
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Book Corners

29. According to the above graph,
which description in the following

1s correct?

I. The total number of English books

in the four book corners 1s 1500.

I1. The difference of the number of
books between Book Corner F
and Book Corner G 1s 100.

II1. The number of Chinese books in

1
Book Corner H 1s 3 of the

total number of books in Book

Corner H.
A.Tand II only

B. I and III only
C. II and III only

D. LII and III only

s

29. L W T IR g5 R A

79
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30. If ? = &, what is the value

of 2P?

A. 56
B. 58
C. 112
D. 146

Iy
7

30. %zr—‘icﬁ =8 PR 2P i

7

?

A. 56
B. 58
C. 112
D. 146

647

End of Section A

I 2=

18



SECTION B (40 marks)

Working steps must be shown in answering
questions in this section unless specified
otherwise.

z 2 (40 »)
Kﬁ;;}%‘;ﬂljih 2] ) é:_@ﬂ %‘ ‘5%'3/»\ EﬁFFB{EBi: ,
RPN EH T -

31. The following table shows the
visitors to the jewelry show in the
past two days.

3. TERAETIRFEEL S X~ Fani
%O

Visitors to the jewelry show in the past two days

KFEEFEL I X 2 F oLk

The first day The second day
- X N
Morning
. w 128

_]: =
Aft

cHnoon 201 154

Tt T

(a) What was the total number of
visitors to the jewelry show in the

first day? (Give the answer only
and express the answer in terms of
w) [2 marks]

(b) If the total number of visitors in the

first day was equal to 2 times of
the total number of visitors in the
second day, what was the number
of visitors on the first day
morning? (Use equation to solve
the problem and show your

working steps) [4 marks]

(b) 4% % — % g%~ H A ik E
%o % ehens ~ A fiech 2
Bo%- 2 Earg Ak
BARF N
[4 ~ ]

19



Sales of Fans in an Electronics Store in the Past Six Months

T REEL S B b N4 E

il
800
700
& 600
g ~
e 500
2 =400
S
S 300
200
100
February = March April May June July
-8 R 7 7 T > B =
Month
LINOS
32. (a) Comparing the sales of fans by 32. (a) F Wk Hedl E B S e

month, what is the difference
between the greatest and the
smallest sales of fans? (Give
the answer only) [2 marks]
(b) When the difference between the
sales of fans in two months was
greater than 200, it indicated that
there was a significant change in
temperature. According to the
above graph, in which two
consecutive months was there a
significant change in the sales of
fans? Explain by using the data.
[2 marks]

PEE S o RS as
EWAS 2R EBRNE
) [2 ~ ]

(b) %3 Bipd* ek B4 E
A L2005 0 PlE T &
B OB o R
CIRNC R S/ S ES L WAL
i I c I R B

[2 ~]

1L

o

20



/ 20cm

20cm
Figure 1

Bl -

33. Sammi is making a greeting card.
After she cuts along the dotted line in
Figure 1 to remove a triangle, a
trapezium is obtained as shown in

Figure 2.

(a) What is the area of the trapezium?
[4 marks]

(b) Sammi used the trapezium of
Figure 2 to make two greeting
cards as shown below. She believes
that the areas of the shaded parts in
the two greeting cards are the
same. Do you agree? Explain.

Figure 2
B =
33, LD AliE- ENE o w s b
MY - Bz A @IES
7 A e
(@) Hrea fi 522 [44]

(b) T BIEE T LA Bl= HhA507
ESEULE S SR U S
Tt R FRN A G - R
mhe Rl 2R E . [44]

[4 marks]
Greeting card 1 Greeting card 2
HF - il + =
BATALH B % (] 5) 21



34. The following table shows the single

34, T A Mo L T LivpLkdpend f

journey fee of sightseeing bus and 7o
boat.
Sightseeing bus Sightseeing boat
Bk 4 Bk 4
Adult $41i $200
A & 5
Child (aged 12 or below 9
(ag ) $20 5 §120
TE(2 AT

(a) What is the fraction of the single
journey fee for a child to take the
sightseeing boat to that of an
adult? (Give the answer only)

[2 marks]

(b) Ms Wong went to take a
sightseeing bus with 4 adults and
a child together. How much did
she pay in total? [4 marks]

(¢) Mr and Mrs Chan went to take
a sightseeing boat with 3
daughters aged below 12. How
much did they pay in total?
(Give the answer only)

[2 marks]

(@) - 3 Lpkdy el A2 2
LS 4B r 2 B 2R AR
:",é;%_) [2 4]

© RELfRELHF3 L)
12 gk 52k Bk Ay .
PEET 52N AR
) [2 ~]

7

s
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Area from the snack area, in
which direction should he go?

(Give the answer only)

35. The daily rent for a booth at the flea | 35. B*% & - B> 5 X e & §_
market is $90. $90 -

(a) Eric has $285. How many days (@) 21575285 # & 77 1 4e
could he rent a booth at most? iz 50 x ?7(% é *)
(Give the answer only) [2 marks] [2 ~ ]

(b) The serial numbers of Eric’s (b) 2 & iz il - B S
booth was a 2-digit number. The 8o (ZHA16 P B
number was a multiple of 16 and T Ak 10 Fp o Rz eh
divisible by 10. What was the B AP A2(RARNE
serial number of that booth? ) [2 % ]
(Give the answer only)

[2 marks]
Pir x
Snack Area
% j ¥
Clothiﬁg Area
JRE ¥

(¢) According to the above floor (©) 14511 B B FenT 5 B
plan of the flea market, the PRERLE & Rend g > o
Clothing Area was in the debk 2 BB TE S RAT|RE
southwest of the Snack Area. If oo BRGeIRE S w9
Eric wanted to go to the Toy (FRBNER) [2 & ]

[2 marks]

23



°T- IScm

10cm

15cm

Figure 1
E%’] -

36. (a) Mother bought a red bean cake
and put it into the cuboid paper
box shown in Figure 1. Complete
the net of this paper box on the
answer sheet. [2 marks]

(b) Mother divided the red bean cake

into eight portions evenly along
the dotted line, as shown in
Figure 2. What was the volume of

each portion of red bean?
[4 marks]

(¢) The weight of the whole red bean
cake was 750g, The weight of red
bean and sugar weigh 275¢g and
25g respectively. What was the
fraction of the total weight of red
bean and sugar to that of the

whole red bean cake? (Give the

answer only) [2 marks]

‘7"/,“'7‘/‘ (|| 3em
N o
r— — I\»/?;cm
10cm
Figure 2
B] =

36.(a) 545 F 7 - WK > Rl E
7},3*.: ’ ji,;}’u T AT~ g]__ E’f’h’i‘%ﬁg
HEP o BERAL 23R

Mg B ARk o [2 %~ ]

(b) 4545 G m APy e T
X8 eBlS T o E i
RS 7 [44]

o =
&

fr25g o el E €
EER RSS2 BY
(FABNES)  [24)

End of Test Paper
PlEE =
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